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IEf K% OUT IN |#Bx HDCP vk || JER |K% OUT IN |4Bx HDCP Hwh || JE K% OUT IN 4Bz HDCP Hwi || IEH |K% OUT IN |4#BR HDCP Hwh
16| ILF A= 47 42 89  16.8 72.2|| 45 {4 [HER i 53 49 | 102 25.2 76.8|| 89 fi|THE HE 50 45 95  15.6 79.4|| 133 4 | H35® B2 51 57| 108 25.2 82.8
VR TAEN- 46 47 93 20.4 72.6|| 46 4 |@EHE E® 45 44 89  12.0 77.0|| 90 { |{E@E B 50 51| 101  21.6 79.4|| 134 4|5t &= 61 52| 113  30.0 83.0
3 4L [1BA EhiE 46 44 90 16.8 73.2|| 47 f% |#E KE 47 48 95  18.0 77.0| o1 4 |MEE % 50 50| 100 20.4 79.6|| 135 {i | gk BAE 61 62| 123  40.0 83.0
4 % |dh)Il shER 48 42 90 16.8 13.2 48 fI [/pEl BE 45 49 94 16.8 71.2 92 fi | #E £ER 51 49 100 20.4 79.6|| 136 fi | =& E= 56 44 100 16.8 83.2
5 I |IU@A & 40 38 78 3.6 74.4 49 fiI |1 Fx 44 50 94 16.8 11.2 93 i |[¥TH K& 49 51 100 20.4 79.6(| 137 £z |#H 15 60 58 118 34.8 83.2
6 fi|AH B— 40 44 84 9.6 74.4 50 {i |f&@iE 1T 47 47 94 16.8 11.2 94 i | B B 45 48 93 13.2 79.8(| 138 fz|)IIFE =i 53 58 111 27.6 83.4
1 46z | BN 8 51 45 96 21.6 74.4 51 {i & &% 51 49 100 22.8 11.2 9 i | ¥H EE 48 45 93 13.2 79.8|| 139 i | £%% 5h 56 55 111 27.6 83.4
8 fif |LUA HEA 52 44 96 21.6 74.4 52 fi | FHA BAH 45 42 87 9.6 71.4 96 i | FH BEE 51 53 104 24.0 80.0|| 140 fi | B+ Bk 61 56 117 33.6 83.4
9 4 [ FH FH 48 47 95 20.4 74.6 53 i |8+ BB 51 42 93 15.6 71.4 97 i | 7% B 54 50 104 24.0 80.0|| 141 i | £ZE & 50 54 104 20.4 83.6
10 £z [de)l IE= 47 4 88 13.2 74.8 54 {i | hngk BAF 43 50 93 15.6 71.4 98 4 |[RE FO0th 51 46 97 16.8 80.2|| 142 fi | #a K =B 52 58 110 26.4 83.6
11 47 | EX 42 46 88 13.2 74.8 55 fif [/NMFk =— 46 46 92 14.4 71.6 9 fI|{m/ &= 5k 52 51 103 22.8 80.2|| 143 fi|/\A H%& 46 49 95 10.8 84.2
12 fiI | flim &%= 48 39 87 12.0 75.0 56 4z |JIldt BETH 47 45 92 14.4 71.6|| 100 ff | B HE— 47 56 103 22.8 80.2|| 144 £ | HN = 56 54 110 25.2 84.8
13 i |#a3@ BB 44 43 87  12.0 75.0|| 57 4 |MEeh B2 42 50 92  14.4 77.6|| 101 4 |# =& 61 59| 120 39.6 80.4 || 145 fi | FEAT EA 51 56| 107 21.6 85.4
14 i1 |8 & 42 45 87  12.0 75.0|| 58 fif |[#kaAK BT 40 51 91 13.2 77.8|| 102 fi | #ERE %7 40 43 83 2.4 80.6|| 146 fi | #¥E IBA 56 57| 113 271.6 85.4
15 {1 | EEED B 44 49 93 18.0 75.0|| 59 {i @A A= 44 47 91 13.2 77.8|| 103 f | A T 47 48 95  14.4 80.6|| 147 {i |3RiB £ 5 59 54| 113 27.6 85.4
16 4 | %M@ EA 48 45 93 18.0 75.0|| 60 i |[db#T 46 51 97  19.2 77.8|| 104 4 |#83 Bk 54 47| 101 20.4 80.6|| 148 fi 558k AF 50 63| 113  271.6 85.4
17 61| 3 BK 53 46 99  24.0 75.0|| 61 £ [/MIl {4 51 52| 103 25.2 77.8|| 105 4 | mik &1+ # 61 58| 119 38.4 80.6|| 149 fi |5EfkE ER 56 54| 110 24.0 86.0
18 i | R 2 48 44 92 16.8 75.2|| 62 fi |#EFE 23k 51 39 9 12.0 78.0|| 106 fi | ##m@ #% 45 43 88 1.2 80.8|| 150 fi | EE 61 55| 116  30.0 86.0
19 4 | R =7 41 38 79 3.6 75.4|| 63 fi|BA —% 49 47 96  18.0 78.0|| 107 4 | =% 8 46 48 94 13.2 80.8|| 151 f |#E HAI 64 58| 122 36.0 86.0
20 i |483 & 47 44 91 15.6 75.4|| 64 | 2@ A 52 50 | 102 24.0 78.0|| 108 fi | &5 sk 50 50| 100 19.2 80.8|| 152 4| B F HER 57 46| 103 16.8 86. 2
21 fi |#E H 43 48 91  15.6 75.4|| 65 fi | 4B FisE 44 45 89  10.8 78.2|| 109 4 | IL#E B 48 52| 100 19.2 80.8|| 153 fi | FE;Z =& 53 53| 106 19.2 86. 8
22 £ | KF FH 50 47 97 21.6 75.4 66 4| ) FHZ 45 50 95 16.8 78.2|| 110 i | EW #£% 51 55 106 25.2 80.8|| 154 {i | @M IEA 57 54 111 24.0 87.0
23 { |EHE fEA 46 44 90 14.4 75.6 67 i |8 EEXR 47 48 95 16.8 78.2(| 111 &2 | SH & 54 51 105 24.0 81.0|| 155 i | $5°K K 54 56 110 22.8 87.2
24 I |BF F=E 43 40 83 1.2 75.8 68 i |HH 1S/ 51 50 101 22.8 78.2|| 112 & |H L EF 53 52 105 24.0 81.0|| 156 fi | JIlA #k5E 63 63 126 38.4 87.6
25 I |5l K% 38 38 76 0.0 76.0 69 i | EH S 51 56 107 28.8 78.2|| 113 fi |AHR Az 49 43 92 10.8 81.2|| 157 {i | &d AR 61 57 118 30.0 88.0
26 I |/DE BES 38 44 82 6.0 76.0 70 4L | AE B#E 39 43 82 3.6 18.4|| 114 41| = BMKF 46 52 98 16.8 81.2|| 158 i | JIIS B 59 69 128 40.0 88.0
27 i | @Il EEA 41 4 82 6.0 76.0 JAREAR: {: = 46 48 94 15.6 78.4|| 115 41 | L% % 45 52 97 15.6 81.4|| 159 {iI|# FIA 58 58 116 27.6 88.4
28 1 | =8 1= 42 46 88 12.0 76.0 12 £ |EK E— 45 49 94 15.6 78.4|| 116 4 | @l BRER 52 57 109 27.6 81.4|| 160 iz |k = 62 57 119 30.0 89.0
29 ff | EKE 46 48 94 18.0 76.0 13 | Bl EfEE 47 47 94 15.6 78.4|| 117 41| LR &k 47 55 102 20.4 81.6|| 161 iz | 7J4R &= 65 58 123 33.6 89. 4
30 i | FMh FE 46 48 94 18.0 76.0 74 £ | iR K 47 46 93 14.4 78.6|| 118 fir | AR A— 55 53 108 26.4 81.6/| N R |[{F&2# KT 0
31 fi |f EF 50 44 94 18.0 76.0|| 75 fi |t Sak 47 46 93 14.4 78.6 || 119 4 |76 % 58 56 | 114 32.4 81.6/| N R |24 Fst
32 fif |krch ¥ERE 53 53| 106  30.0 76.0|| 76 fi | Rk EA 51 54| 105 26.4 78.6|| 120 4 | BHAR HEB 49 46 95  13.2 81.8/| N R|F®4 fiz 0
33 4 |EA BB 53 53| 106  30.0 76.0(| 77 4 |F & 53 58 | 111 32.4 78.6|| 121 f | EFHb & 49 46 95  13.2 81.8
34 f% | uo Al 42 39 81 4.8 76.2 || 78 G [ JIA ik 48 38 86 1.2 78.8|| 122 {4 | &0 Hi% 54 53| 107 25.2 81.8
35 fi |5 3h 45 48 93  16.8 76.2|| 79 fi ¥ Bua 46 52 98 19.2 78.8 || 123 fi | THt w3 56 57| 113 31.2 81.8
3 4 |=AA sF 51 48 99  22.8 76.2|| 80 4 |FH NI E— 55 49 | 104  25.2 78.8|| 124 f | E| $EF 50 50| 100 18.0 82.0
37 fif | A &R 50 49 99  22.8 76.2|| 81 fif | FH# BB 51 53| 104 25.2 78.8|| 125 fi | st #nSH 50 54| 104 21.6 82.4
38 fi | 4EME B 44 42 86 9.6 76.4|| 82 fi |#EA IR 47 44 91 12.0 79.0|| 126 fi | #@E PR 48 56| 104 21.6 82.4
39 i | F# =7 45 41 86 9.6 76.4 83 fi |#MH = 52 45 97 18.0 79.0|| 127 i | d#f HEE 55 55 110 27.6 82.4
40 I |BEH =5 54 50 104 27.6 76. 4 84 i |FEK EE 53 50 103 24.0 79.0|| 128 x| & NE= 48 49 97 14.4 82.6
41 i | ¥EH i 44 47 91 14.4 76.6 85 i | 5H 1& 46 50 96 16.8 79.2|| 129 i |[#BX B 51 52 103 20.4 82.6
42 I |EfE & 40 50 90 13.2 76.8 86 fi |1&4T fERK 51 51 102 22.8 79.2|| 130 4I | =F3/x HKIE 50 52 102 19.2 82.8
43 i1 | &g 43 47 90 13.2 76.8 87 i | A M= 43 46 89 9.6 79.4|| 131 4f | ludh FEH 49 53 102 19.2 82.8
44 5 |53 FiE 51 45 96 19.2 76.8 88 {i | ARER 3= 48 47 95 15.6 79.4|| 132 41 |#2H TER 51 57 108 25.2 82.8




